SFI55E12H18H

AhinEERNERFER (No.9)

"G A DEEE

ENEETKEMNMETL. REHNLE

acFYFEL=,

BETHHET114~15°C

BEDFERLLLET HE 1~2CREES<HYELT -,
12148 (ZE L= KREZRNERAZERZEMoELET,
EREBOKEIEZ 17~19°CEZ>=HIBLUIETLTEY. B

$34214~15°CH EGH-TULVELT =,

BEDFER (2013~2022F E D FH{E) TIK. 12A DIKEA 12~
13 CEBIEDT 1~2CREESWLELSHRERIZEYELT,
HHHENERNEETHTA KYS<HEYELT =,




MBI KiniEE

REEY KERMItEY3— KiREKERRE 52—, KiniEh

#5A 2 (St.) 1 (GEE) 2GEK) | 3GRMHB) | 4RO | 5UWAER) | 6 (FEE)
gAEAH 55128148
&R 11:13 11:28 10:53 10:38 10:27 10:13
IKEE (m) 8.7 241 29.3 17.6 27.4 38.6
ZEHAE (m) JEET 11.0 115 115 15.0 15.5
KE 5 4 4 4 4 4
KR (°C) EA= 15.1 14.0 14.7 13.9 14.7 14.4
2.5mfE 15.3 14.4 14.8 13.9 148 14.4
10m/B - 14.3 14.8 13.8 148 145
15m/B - 14.4 14.8 14.2 14.8 14.4
K2 155 145 15.8 15.0 15.7 15.3
185 * = 33.46 33.18 33.72 33.49 33.73 33.62
2.5mfE 33.86 33.49 33.73 33.50 33.75 33.61
10m[E - 33.64 33.77 33.50 33.79 33.66
15m/E - 33.68 33.79 33.85 33.79 33.67
EE 33.98 33.70 34.14 33.84 34.11 33.97
BIFRREATE(%) |XB 87.9 95.1 90.9 92.5 92.7 93.5
2.5mJE 87.8 93.0 90.9 93.1 93.0 93.7
10m/B - 92.5 91.1 94.8 92.8 93.7
15m/E - 92.0 91.1 95.2 92.8 93.6
[E = 84.7 91.5 83.4 92.4 92.7 93.1




2]

-

St.1

I
?%@ﬁ#ﬁﬁ
| )

4

! rd
fy =~ .
- ¥ Kk
N iR o B
s
e~

ASt. A\

£ =l
4'
=ab 1=

BT 4

OB T (EHEHE)

X1 KMEZHREEREK

XSt.1MBSt.6 (O) ICEWTEREDEBICREBomMSEBE L1mD/KEZEAILT-,
StADSSE.D (A) [ZEWLWTREBOMASIKFELISMDKEZER L=,



A (m)

16.0
14.0
12.0

10.0 A
8.0 -
6.0 -
4.0 -~
2.0 A
0.0 -

RIFE R A DR

= 5FI5FE128
=S5M4aE128

-St. 1R ATHIZER A i &

-St.2. 3. SRU6THIERA LYSELY

B A &M HLER

16.0

14.0
12.0

10.0
8.0 -
6.0 -
4.0 -~
2.0 A

0.0 -

X2 FEHREOLRBIERA. 7ITA)

m 555128
# FF5E11A8



30
25
20
,"\lé 15
® 10

St.1(GEE) 2.5mEBDIKE

——H25 - RO4
—8—R05 |
rd
4 5 6 7 8 9 10 11 12 1 2 3
A
St.1(GZEHR)_ERBDIKE
——H25 - RO4
—B—R05

\\0

4 5 6 7 8 9 10 11 12 1 2 3
A

X3 st.1(GEER)DKERUVIE

35.0

34.0

33.0

32.0

31.0

30.0

35.0

34.0

33.0

32.0

31.0

30.0

St.1(GEB) _2.5mENDIES

=N

=¢—H25 - R0O4

== R05

4 5 6 7 8 9 10 11 12 1 2 3
A

St.1(ZHR) ERDIES

w

=¢==H25 - R0O4

=li=R05

4 5 6 7 8 9 10 11 12 1 2 3
A

DR

St 11K EI0MEK i



30
25
20

EEIS

Ki

st.2(GE/K) 2.5mBD KB

10 -

—4—H25 - RO4
—@—R05 |
( \_‘
A S T
A
st.2(GE/K) _15mED KR
—4=—H25 - RO4
—8—R05

4 5 6 7 8§ 9 10 11 12 1 2 3
R

st.2(GEK) 2.5mBDIES

=¢==H25 - R04

== R05

4 5 6 7 8 9 10 11 12 1 2 3
A

st.2(GE7K) _15smEDIES

=¢==H25 - R04

== R05

4 5 6 7 8 9 10 11 12 1 2 3
A

X4 st.2GEK)DKERUNIESDHEF



st.3(MHE) 2.5mBDIKE st.3(M#E) 2.5mBDES

30 35.0
—4—H25 - RO4
25 ,i o ROS i 34.0
o \ .
., 32.0
v K,_. —4—H25 - R04
5 Sy —#—R05 i
O T T T T T T T T T T T 1 30-0 T T T T T T T T T T T
4 5 6 7 8 9 10 11 12 1 2 3 4 5 6 7 8 9 10 11 12 1 2 3
B A
N=|
st.3(MBIE) 15mEBDIKE st.3 (MBI E) 15mEDIEH
25 35.0
—4—H25 - RO4
20 == R05 i 34.0 - WL
015 33.0
EE R
'4\210 . iEE32.0
== H25 - R04
5 31.0 ROS s
O T T T T T T T T T T T 1 30-0 T T T T T T T T T T T
4 5 6 7 8 9 10 11 12 1 2 3 4 5 6 7 8 9 10 11 12 1 2 3
B A

X5 st3(EE) DK ERVIES DHEFE



30
25
.20

&
e 15

st.4 (WD) 2.5mBD KR

== R05

=¢—H25 - R0O4

\

AN

A

i ( k‘__‘
4I5I6I7I8I9I10I11I12I1I2 3
A
st.4(BDH) 15mBDIKE
4= H25 - R04
== R05
4 5 6 7 8I9I10I11I12I1I2 3

st.4(MDE) 2.5mBDIES

—==H25 - R04
~f—R05 i

10 11 12 1 2 3
A

st.4(BEDH) _15mEBDIES

4 5 6 7 8 9

=¢==H25 - R04

={i=R05

10 11 12 1 2 3
A

4 5 6 7 8 9

X6 StA(EDE) DKEBERVIESDHEF



30
25
20

E]'é15

st.5 (IRSAIR) _2.5mEBD KR

—4—H25 - RO4
—8—R05 |
( N_.‘
4 5 6 7 8 9 10 11 12 1 2 3
A
st.5 (A IR) _15mE D KIR
—4—H25 - RO4
—8—R05

10 11 12 1 2 3
A

4 5 6 7 8 9

st.5(RAIR) _2.5mEBNDIE S

N/—\

=¢==H25 - R0O4

== R05

4 5 6 7 8 9 10 11 12 1 2 3
A

st.5 (AT R) _15smEBDIE S

M—‘—“‘

=¢==H25 - RO4

={li=R05

4 5 6 7 8 9 10 11 12 1 2 3
A

X7 st.5(FRAIR) DKERNIESTDHEFR



30
25
20
ﬁa 15
™10

St.6(FHEE) 2.5mEND KB

—4=—H25 - RO4
/ —8—R05 |
( \ﬂ
T T
A
st.6 (FEE) 15mBD KB
—4—H25 - RO4
—B—R05
R
™

10 11 12 1 2 3
A

5 6 7 8 9

35.0

34.0

33.0

32.0

31.0

30.0

35.0

34.0

33.0

32.0

31.0

30.0

St.6 (KEE) 2.5mBNDIES

v aan < i

o

=¢=—=H25 - R04

== R05

\/
Y

10 11 12 1 2 3
A

st.6 (FEE) 15mBNDIESR

4 5 6 7 8 9

A

A E———

=¢=—=H25 - R04

== R05

10 11 12 1 2 3
A

4 5 6 7 8 9

X8 St.6(FEE) DKERUIESDHEFE



23]

‘0.6 e

‘ -
L

')
I
1
LN
RN
,'GRE (itg;iﬂt)

0.6 i
A

¥ KE

v
|\ R 54 i
s

0.7 it

3%E'- S KER
A f’ | \\\\\\\\\\\\
O T (HSEHEREFX)

Ko ®EO/OO0D4)LRILE

XKEFTRELEETHY., EHGEETIEHYFRE A ERDOHEIHIGELERELTIF
RSN (AZFELOLTORRIETEEEA)



2]

IR

‘ 0.9 l' 2.5m‘

I
AR AP B
R (I 1)

4

0 0.8 ; )

S FER A
i } | \
O TR (JfCEEE X))

10 2.5mE®NoAOQJ4)LEILE

XKEFTRELEETHY., EHGEETIEHYFRE A EROHEHIGELERELTIF
RSV (AZFE D TOERIETEFEA) -



2]

3 15m|

‘ -
|

IR

I
AR AP B
R (I 1)

4

I
0-8 "'{‘,
o ¥ KGR
‘ N TR o i
B FRi 0.8 —E=7% -—\/”

00.7 ; )

R FER A
7 } ' \
O TR (JfCEEE X))

K11 15mEBOoYAOJq )L R IEE

XKEFTRELEETHY., EHGEETIEHYFE A ERDOHEIIGELERELTIF
ALESW(AZFEVTOLRIITEFEA) o SLLUFKERKFI8MTLT =,



